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In the following problem, there is one
question and three statements 1, Il and 111
niven below the question, You have to
decide whether the dala given in the
statements is sulficient to answer the
question.  Read all the statements
carefully and find which of the
staiements is‘are sufficient to answer the
iven question,

oW 1s the man in the portait relnted (o
Jignesh ? o _
. Pointing to the ponreit, Jignesh said,
“He is the father of my mother's
onl dson”.

11, Jig:r{'rsg!r'tﬂnis the only child of his
nrents,

L. Pointing to the portrait, Jignesh said,
“He is the only son-in-law of my
Father™, o

(A) Only | is sufficient.

{B) None of these .

(C) Only I and 111 are sulficient.

(1) Only I is sufficient.

SRR, A Aiferh! 3 17g frgh & oy
W HIG W Ew I wnfi
e &, A 9% 589w = i
visa k|

(A) F== sty (B) B LRy

(C) &&= 1 (11 (D) et 1 5 gy
Shipping business is quite dirty. Bumning
heavy fuel oil, shipping industry
produces 13% of the world's Sulphar
emissions and 15% of its nitrogen
oxides. And by 2050 ships will be
rfm!u:iug 1 7% ot all carbon emissions if
eft unregulated, sceording to research oy
the Europesn Union,

Which of the following, if true, weakens

the argument in the passage above ? *

I Shipping zccounts for only around
1.2% of global carbon emissions

Il Demand for low-Sulphar (uel ol
and manne dicsel is expected to
reduce in 2020,

L As per rules brought in Ly the
International Maritime Orgenization,
the United Nations agency for
shipping, ship owners have installed
cquipment to clean the dirty ballest
Water their ships suck in and
discharge,

(A) Only Land [T (B} Al 1. {1 and III

(C) Only Land 11 (D) Only [ and [N
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(A) ifaan (p) niyam
(C) IpFam (1) wEm
What wswas day of the week on
2] Seplember. 1987 7
(A) Sunday (0 Saturday
(C) Friday (D) Monday
W e ) ran w0 e g g
} & ool W wan I W We
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| yaiih fiom e al
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only on the

oduction. This requires the

active participation of the managers B

the other people rather
onthe p

(A)
(B) None of
describing the passage.

than just working
roducts and mcvmfmbtics.

(C) Minagers should be good at talking

the most needed

(D) In the upcoming days, e S

It 15 between jp

distance between the hour
of clock 18

minute hand

18 minutes

spaces. Whal time does the clock show ?

following is 3 stepb¥-
rearrangement for the given input of
numbers :

&

lnput: |85 [16]38 04119197(63
Siepl: [97/83(16{36,04119 63
Seep 11 - |97|8563]16136
Swep 111:|97|8563136|16
Step IV |97 (85(63|36 19116
Step V 197/ 85/6336{19]16
(flor the given input step V is the last step),
Which of the following will be the last
step for the pven input 7

Input -03 31 43 22 11 09

(A) tV (B) None of these
(C) m (D) V

: 3:36 pm
(A)-3:12 pm (B)
/’2],3-_3] pm (D) 3:27 pm
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Today is Varun's binhday, One year g 2 =
from today he will be twice ns old us he s ;
133 |2 years ago. How old {8 Varun | w ap wITA Wk ® W wam i
today ? * A
{A) 20 years (B) 27 years quta # foe wgeae 71 |
{C) 25 years (D) 22 yeurs 1. ﬂ,ﬂmmmWEﬁm |
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‘:}:ﬂ?ﬁ?ﬁ‘ﬂmﬂﬁﬁﬁmmﬁ 7 Following question consists of one
: sintement followed by two arguments.
| #d, %8 = s fifem T I You have to decide which one of them is
=ik, w4t g afeal ) qeen # e
L ¥ = s ﬁr’:h'a waT w AR Statement : Should "Lguvemm‘ o
watfe dfeat & wdt @ a R otk A for job must be online °
e =l AT R Arguments :
(A) afe e | T B | . Yes, this will reduce paperwork and
afead i sadna=E R beneficial for environment.
(C) aRTA 17 U FTER | II. Yes, this process will be transparent
(D) e FEa [ waga b | _ and coruption free.
In the question given below Statement 1s )
followed by two arguments | and I1. You (A) Only nrgument | is strong.
have to decide which of the arguments is (B) Both | and Il are strong.
3 < t: : )
%:jrmétl?;hm%}d pm“l:] I,,duu:];‘.: both (C) Neither I nor Il is strong.
daughters and sons or the sons :
musalr ““;i‘ eq f}f E"ﬂ" Ih‘;:y (D) Only argument Il is strong.
can help in financial matters of the home
Argunfcnut 66. AR mﬁﬁlmw*‘?
l. Mo, sons must be made more b it i )
educated as they are more intelligent many total triangles are present in
than ers. below given figure ?
II. Sons must be made more educated ‘F
since daughters get married and go
to another place. Ah
(A) Ifonly [ is strong.
(B) If neither [ nor [Fis Strong. (A) 8 (B) 17
(C) Ifeither 1 or II is strong, (CF 12
(D) If only 11 is strong. V}:* (D) 16
L 9
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Pred fire 3t U Q 3 wad =m0 3w s v |
. e i) i Direction (Q. No. 74-78) : Read the following
1. e e ) - information carefully and answer the questions

1. ﬁwﬁmﬁﬂaﬂtl - that follow :

(A) et | FEE R | L Seven students P, Q. R, 8, T, U and V
(B) Far 3T | e luke a scries of tests.

(Y A m:” ;Wm! ltl II. Notwo students get similar marks,

) w44 1 HEH TR | 1], V always scored wore than P.

In the question istesnants ate vl (Vv P always scored more than Q.

o SOIE 1 BT, i . ¥
rﬂ"ﬂ“fd b}- three conclusions !I 1 ITld V. Eﬂl:h ume either 14 Hﬂmd ﬂ'_'lf hlghtﬂt and
111, You have to consider Whe statements T gets the least or alternatively S scores
o be true, even il they scem to be at the highest and U or Q scores the least.

variance from commonly known facts. P :
You have to decide which of the given 74. e R HEE it 37 faem fAvw

conclusions, if Ilﬂ}', follow from lhe T grd o AR BT FIRY, ¢
given statements. Indicate your answer. =]
Statements : (A) 3‘;{ (B)
Only few papers are books. () (D) HwT
Some books are e-books. If R gets the most, V should be ranked
All e-books are magazines. not lower than
Conclusions : (A) second (B) fifth
I. Nohook is magazine. (C) founth (D) third
P . g s W VBRE R, At s
(A) Only 1 follows. Ll b
(B) Neither | nor 11 follows. (A) S I=on TR w2 |
(C) Either It or U1 follows. (B) Q¥ mE R R |
(D) Only 11 follows. e - (C) Tmmﬂi I
73, T & W EEe w6 § @ T (D) RFFREATR |
TE| for oqn e 3T T : [f V is ranked fifth, which of these must
Find the missing number for below given b;-um: ? .
series following the same logic (A) S scores the highest.
16, 48, (), 72, 36, 108, 54, 162,81 (B) Q is ranked fourth.
(A) 28 (B) 39 (C) T is ranked third.
ey 34 (D) 24 l (D) R is ranked secand.
e - 1 =

€= o
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KK2 -
w7

w—— ‘_-,@_ frofafas w= S |

v 79,

tmﬁ@ﬂﬂ T
|n_which answer, he figure
somplete the patern i the following

will

guestion figure ?
n | Y
C

5
E@ ?

(B}

©) \@ lD::!@
g witew & iz g me & wies

e T At i Sa e f
Brwm mEm Rt fEmiam A

i iy ' l
) & i oft, o & s R A,

vt g R ¢ 3, Tor e s A
% |

7o, 3m & o v it R
(B) =20 WA |

(<) (D) =t ;

in Rathore family Gajendra Rathore is
the owner of house He 15 mamed ©
Puspa. Puspa has two children and their |
names are Sneha and Raman. Bikram has
married to Sncha and Rodiuka F
Raman's spouse. Neha is the only gl
child of Sncha and Radha 1s the only girl |
child of Radhika. Aman i+ Radha’s onl)
brother.

tow is Puspa related to Neha 7

(A) Grandmother (B) Cousin

0) A (D) Mother

L - T e

e
™"

==
g

il

=1 PR ¥ | o, wm 2
< Bt 71 e 1 90 o
dismshfawsnanht)
W w om 73 & faw afnh o
sre) oy & gy v S §
(A) FRmsamTa b
B) Bffeaswasgi)

(C) mrga=h |
)y BT A R )

Study e following passage careiuly
and answer the question

There is more Bad news op foad
from. It mow s gertain that these
will he 2 shortfall of gbour 9 milion
tornes in’ the foed produchon @ W
cuitent khanf ssason, which @ um
means S million tonnes less than the

petion achigved e the fas kharif
seasoil. However, rice procuremail may
only be partially affected since Wesl
Hengal and Andhra Pradesh hove
sufficient rainfall  while Pt.lrr{ah.
major contributor (0 the centd pon! i

Jess depeidend ©a rainfall.  Stil, the
overall evailability of rice may go down

by more than [four million tnnes. There

may he worst news dhead.
Western countries have well equippes

laborstory fests to detect ralyes
[A) Definitely faise
(B) Deflmely trus
(C) Probably rue
(D) Dats inadequate

- — T e,

“‘1 __....._-_-_n.—._-—l-—'!--l—l-l'-—-—_

FRETL e
Tﬂ’, ﬁe‘—“ﬁ rg;f' > RN (W




R ST 001 5141 wr 8+ 21ttt et :
TG e i o )50 | wo, g wel w) oty 1 wafen w6 afte
“’ﬂﬂﬁfﬁ'ﬁ“maﬂ oty A | a ey &
i A ifem Wl mﬁm-" iy Apranige  these  wionts 0 wlphabeticsl
63,000 unfing ﬁmmﬂ £ U?:m',‘rfmﬁ | ;mlw aned fine the mididle word |
vt it whare l Ao Juplivy, Quick, Quiz, Quarter, peen
) gi%'m "Tﬂ ¥ aﬁﬁ E S :Eﬂ ST ﬂ[—*ﬁ \.Tﬁlsb)unf:ty ”J;;: Huyclr
_ fref wd & tier 3} Quik
mmﬂﬁﬁfﬁﬁﬁﬁﬁt ‘,‘,'_Ml“‘“l w1, A fRu e ah et w9 sl @
afterd § | 37 13,270 wvfive +147 I :
ﬁmﬂmﬁmaﬁrﬁh 4 Fuft 2w @ PRODUCT #) fsn T
famt & R feva awn 7 3
st i it froret @ | mﬁmﬁgu?ﬂ,ntﬁmiﬂ
a3 HiFE AFE |
(A) TR SE TR R s R | e T e s d, Gypsy
FAFE Y E FXORX fran o d -
lB}ﬂﬁTWﬁIHTrmtﬁ; - (A) ufd STRe # # f wrEIll, 9
TET & WS el ] I MEE .
q mﬂ%‘?ﬁﬂﬁ (B) uft w47 | irwﬁaqimﬂ
0) afe fem ' * g w3 A ® fem ww W
(©) e vt @ a, fu yraE )
T T B ™ aR T ww wwa ki (C)_B @ A e T | A J
FATH FRER: /R 0 e 1 3t § & mé Il e I
(D) a2 amwt s R R e mwfmwand)
wa' & gt fn o el & S D) uft se A | A A A,
AR dmr e Fﬁﬂ?ﬂt%ﬂﬁmﬂfﬂ. T
Primary education in Bihar is in a poor m: n:aﬂj‘::}:‘mﬁtc fﬁ: cm[-Fm n:mm:r:
shape. Pupils in over 50 pereent ol the How is PRODUCT written in that code
schools read in the open throughoul the language ?
i,car. Over six million children boa to I" ~ In a certain code language, AIEEE
ower income  @roup  parensis reman is written as BIFFF. ;
Unlettered. Not even one pergent of the Il. In & certuin code language, GYPSY
63,000 primary schools have facilities of is written as FXORX. ;
fumiture, toilet, dnnking water and (A ::;i‘i!::“m'ﬁ;hn;:ﬁirwmf.“&u::ﬁ;gjnm 15
§ 5 1 Kk -1 .
%E;tejlllr? tE:“»ut;ﬁ]l“ﬁn;LE:I t::r'::?;;l (B) If data m both statemcnts | & Il
out of which 2747 are women. Now each L‘Lﬁ'}‘:ﬁ_m necessary 1o ansiwer
af the 13270 primary schools have al (C] IT dawn either in the statement | alone
ar statement [ alone are sufficient

least two leachers. _
Classroonts of mast of the prmary
schoole in Bihar arc inudequais.

(A) If wou think the inference

*definitely truc’”. .

() 1f you think the inference 15 hably
jalse thougn not definitely false I the |
light of the facts given.

(C) If the data given |s inadequaic 1.€.
from the fact given you CHnAOT sdy |
whether the inference 15 likely to be @
true or false, !

(1) If you thiak the inference 15 ‘prodabily |
trse’ though not defimtely mue in the |
light of' the facts given, i

o M
b .ty - i A O i B4 e — -

<

P

18

14

-

SU————

v answer the guestion, _
(D) If datp in the suatement 11 alone 1§
sulfiesent to answer the question,

g2 it faw v e W U wH A

#ifam

(. wegfa 2. Tawrim
3 e 4, W 5. oft=3 .
Arrange the words given bebow n o
meaningful seguence

). Presemiation 2. Recommendation
1. Amival Discussion
M TR () 5341
v b 2 v 3,412
) 5.3.1.2.4 [ﬂi 35421
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B o, SR o am woae 30 e di mR

N 1 37w 4w Ferh R @ T
§ ¢ TR W W) el | 300wl e wn B 7
Imagine thm your watch was correct al
noon, but then it began to lose 10 minules
each hour. It pow shows ot 4 P.M. but it

stopped § hours ago. What is 1he correct
time now 7

(Al 30AM.  (B) 1:00 AM
(€) 930PM. (D) 11:00PM
R G i R L L Gl

faedl we i afdfm it -
From the given answer figures, select the
one in which the question figune embedded,

W SR / Question Figure :

Fe Sl / Answer Flgures :
—

058

—

|2

S
Frefefas s = & Swaae Wt
s feem rEma I E |

T FAA 75w feum & ¢
72 klaplac 1 518 R filmy holiday
placrick ¥ 34 R holiday beach
rickrum 1 54 Rk beach perform

rumkla %1 34 orm filmy

frm = W “perform athletics™ Ll
wEAR 7

(A) (H]

()

i S

Study the followmng  information
cmgllly and answer the guestion given
helow.

Here are some of the words translated
from an artificial language

Il klaplac means filmy holiday
placrick means holiday beach
neknum means beach perform
rumkla means perform filmy .
Which word could mean “perform athléties™ 7
(A) plackla (B) placrum

(D) rumstrow

U}Q’*"‘

88, Fafefm o 8, Wl (X)) &

P

ﬂ&+m1:+rli—.-ﬂ-7r:ﬂﬂ-f.—iﬂﬂ'!f*
s w owd .« R, W AefEEn v .
e dfam

If + means —, = means /, — means + and /
means =, then find out the answer of the

following question ! .
ARy 4
&

(48 = 6V L =
o (A) 34 (B) 36
Kag (C) 30 P

i 'when' W k) ‘«', ‘you" W i i
‘came’ W1 o =t s cwill k- |
R, A 8 when 12 will 16 you 2 come 10"
muATTEm? QK2+ 1_{:,:-... 10
If *when' means *x', ‘you’ means '+,
‘come’ means =" and ‘wll" means *+°,
then what will be the value of "8 when
12 will 16 you 2 come 1077

(A) 70 (B) 97
(D) 80

famewl (A),(B), (O) 3(D) W 8 7 77—
shfe | o
In the following gquestion, choose the

correct  waler-image from  alternatives
(A} (B}, (C) and (D) for the figure (X).

&, A,

78\

A0
a8 s ul

4

(©) W (D) W
<

a‘F{L—kQ—-iﬂ
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90,
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fFeaferfan we & sm awfan s fo oo ] o

| s & w9 A waifts e Mec
|

R s w w § v smw =i

) dw @ wm A W k@ s

Ler g R b

(A) 38 Rmman | .
[B1:ﬂ!ﬁmaﬁﬁ;ﬂtmmm

(€) frdl 3= fwd A 3wl w3
wra e Tl wed @1 S i |

(D) Fwwn T % o ) awm En |

To the following question four probable

answers have been given. Select the most

appropriate allernative as the answer.

If you are a munager and one of your

employees is not working properly, as a

manager you would

(A) fire him.

(B) wlk o lam and try to find out his
problem.

(C) try to develop the man's ahilities
and interest in another job,

(D) give the man two weeks 1o improve.

faifefam w1 wwyifam 3w fau my
L ImﬁMﬂ%qﬁﬁmm

w3 HTA | l
el Aot 3 sngw) e aA & i
# st e & | 379 -

(B) 3 rd # i e g A s |
wr o foe 8 -
(0 3 0 % e v i o
T ® WEE T |
(D) T3 vt |

answers have been given, Select the most

appropriate alternative as the answer.

vour maid has invited you lo her

daughter’s wedding. You would-

{A) eompletely ignore her,

(B) congratulatle her and make up some
excuse for not being able to aftend.

(C) buy a gift for her daughter and help
in wedding.

(D) attend the wedding.

e U i

To the following question four probable {
|

!

i

i

1

i

—

mmmﬁﬂnﬁﬁmmﬁ

i form e o1 e (s ) we BT

2 yrpfen gwns X Y 1 PEES
wn ko

(A) Xty @t 1sEa & |

(1% s e At it an =W R

(©) X 3ty o ergem wwmEed 71 R
(D) X afrey sem k)

Which of the following staternents can be
used Lo take 1 decision on this problem ?
Whit is the product of two natural
numbers X and Q’ 7

(A) Both X and Y are multiples of 15
(B) Problem cannot be solved.

(C) LCMof X and Y is 71.

(D) X and Y are distinet.

92, Prfefgn AR # TF 3 IEe A

fem I WA IS
B R R b ok FER S
v & =9 § =w fram e £ ) Fam 2

Ho Al D4" FEm B 7§ “wke your shoes
out™ | st fram “B2 Al C1 A4" Sl 2
f *wake instont right wm" | §8H 1]
frm "C3 P1 D2 €1 W R 6 jump
on vour wm' | 3@ & Fam “B2 D4 K2
3~ wwm & 6 “jump out instant again” |
ke right move" & fg dvifdm =iz @ |
Read the following mformation and
answer the question given below it

A few kids are plaving in a park. They
make four rules as a part of a game. The
rule “I2 H9 A| D4" swales that the person
wold stand up and “take your shoes out™.
Then the rule “B2 Al Cl A4" states to
“take instant right tum”. Afler this the
rule “C3 P1 D2 C1" states that “jump on
your tum”. Finally the rule “B2 D4 K2
C3" states “jump ont instant agam”,

Find the possible code for ‘take right
move’,

(A) AL PI A4
() Al H? A4

(B) Al Fl A4
(D) A4 AT K2

*

15

KK2
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o3, ', @, s, g, S, i, Feaw s
Famm, i3 atvar - qand & e g A
&3 R ) s, o % g @ dftiwn s dpsr
il A gEn b @, ik e e
2R W Al e & dlw it R, b
sl @91 & odrs R ) o, e i i 0 R

foren & s znil wha b @ 5

LAY Fards (1) 2
(C) = (D) Tea
Poapa, Cueen. Rohan, Suresh, Teena,

Umang, Vivek and Willa, cight friends
are seated wm circle facing each other.
Vivek 1s third 1o the right of Queen and
secand to the lefl of Rohan. Queen is
second to the left of Teena and
immediate nght of Suresh. Umang is
between Queen and Teenu. Pooja is noi
at the left of Roban. Who is sitting to the
immediate right of Willat

(A) Vivek (B) Teenn
(C) Poojm (D) Rohan

At Bum 9w 4, pw w99 § OR AR
aw fro e £ B o s @ afbs =
A Auftpn ST WU AT T
e A AT, M AT TR |
. T=EeR

b, AR

. vtz

4 wwiaafiant

in the following question, the main
statement 18 I"nllml':j by four sentences.
Select a pair of semences that relate
logically to the given statemenl.
Statement : Elther the train is late, or it
has dersiled.

a  The tain is late.

k. The train is not lule.

¢ The train is deriled.

9.

Z L > La
t."'.l—i -..-l.:' - 3 |.5 !Iﬂ
. -.—------\.—--—----—-|_.||l

95. h‘qn Fﬂ‘?nﬂ'imﬁflﬂrﬂiﬁﬂl%[_
lqnahml:ﬁadmﬂhﬁg %
H-Iﬁll'raﬂll'mntihﬁrgr.ftgu ' §
& fiw wan ol 4o fag D, £ s
tmﬂﬁwhu[llﬁrﬂni:

o

(A)
) le-ﬂ?r

{8y |5,
(1) |5 dver, 7

10 Mz, '-1:1
3t
oint A is 30 m lo the east of | point B,

Paint C is 10 m 10 the south of poim A
Point [ 15 15 m 10 the west of puml C.
Pout E is exoctly in the middie of the
points D and F. Points D, Eand F lic ina
straight line, The .':nglh of the DEF |s
20 m, Pulm F is to

Point G | m o the east ol point
How far :un.l in which direction s point

G from pomt A 7 }Dg P

}A] 10 m, East
Ch 10 m, North 15 m, North

=

Paresh, I'ITI. Ramesh, Suresh, Tushar,
Uniesh, noand Wasim are jlulng
ruuml ﬁ'n: un: e and are facing the cemtre |
1. Paresh is second to right of
Tushar who is the nngthnur of
Rames Vann,
2, ﬂmﬂhﬂnﬁuu—nﬂgbbﬂurn{ Paresh.
1, Varun 15 the neighbour of Umesh,
4, asim is_not betwsen Suresh and
agim. W.:snn 5 noi  between
Umesh and Sw
Which of the fnl!umng i¥ conect ?

(A) Paresh is to the immediate rtght of

anm,
lnﬁhtshawrm Wesim and Suresh,

d. The train is not dermled.

(A) b (B) be {'C: ;Ir:l‘ is 10 the immedinte lefl of

(C) ca (1)) db (D) Ramesh s between Umesh and Vanm,
KK2 16 *
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Lﬂ

mﬁmﬂ'ﬂlﬂﬂﬂﬁlﬂiymuﬂ
i A few o wem w3l

u Fafesm wif v &,

| st amed &

2w wd R nfwm

& @ and B o

/v and § e

e - it @ Faw uk ww fin e g @
211 faamadl g fasm win)

Feremn & fee,

&1 W 3 & I-vd
/1w el R el 1
um =i fiig X & 3% wom @ ot
in wgen R Izuﬂﬂﬂr@*ﬂﬁaﬁﬁ#’
e, e 2l qew R, aft 20 e e A,
e aw wnd g &, 3k 15 e we
s uTe wg o g & 3 s e e
e & | 3 7 shw ¥ qu fee fan &
Rt

Study the following information carefully
and answer the question given below :

In a certmin coded language,

! means East

7 means West

& means North

/ means South

Note If two symbols are given
simultaneously, then we will consider
both the dircctions.

For example,

&! means North-East

/! means South-East

A mun staris from point X and moves
towards east. After walking for a
distance of 20 m, he takes a right tum,
and walks for 20 m, then he takes a left
wrn, and walks for 15 m, after that he

bo e

(1) sy

. ARER ;0 -

99,

B |

160.

(C) itFaa (D) 5

Adrerall . Tramaport © N

LU oW -

}?i [yping (1) Hjm&n:
) Medin (12} Publishing

A iy o wwm v g -
ey Bl Sk b b

W W ﬂﬂlh‘ & .
foru, i B | HMEMAY
W - ), P A e g i b

M, Py R st T, p R e
L p R oH o oend | o Ao b
(A) | ke ? T ki
L L
(B) ad @ ummd
(C) A | wEm R .
(D) ;!ﬂ!l??ﬂ Tt & wafe [ Fwen waw
!

tion below consists of a Q{:ﬂiﬂﬂ and
rwo siatements given below 1t You have to
decide whether the dats provided in the
statements are sufficient 10 answer
uestion :

gestion : How is J relaied to P2

Statements : . _
l. M is brother of P and T is sister of P.

Il. P's mother I8 to J's husband
who has son and two daughters.
(A) | alone is sufficient while [ alone is

not sulficient.

{B} Neither | nor 1l is sufficient.

C]I Either | or 11 is sufficient.

(D) 11 alone is sufficient while | alone 15
not sufficient.

Tl :ﬂ‘?'ﬂlﬂ ﬁ ﬁ_jﬂ a4
EaEdE

Select a suitable figure from the Amwm.
Tigures Uit would replace the question mark !
HwT Sptedl  Problem Figures :

Ll !ll\-,

Feit, sisferal / Answer Figures :

= 594

takes a right tum and wulks 15 m more. l
In which direction is the man facing now ? B ﬁ "ﬁ‘! T R
(A) & By 7 M & 3) 4] (5

) By A U\g (B) (5
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W= YPart-l

wmr e} [/ General Awareness

1, frafifas 4 @ fsn 3§t & ema W
stk Ee A A o 2
(A) wd) o) () werd) )
WL i Al (D) et 34
Which among the fllowin !, FiVETs s

known a5 “Somow of Bengal™ ?

(A) Risi River I R
(Y Damosdar River (D) Godoven River

tfers sifiwl % w4 frofefen 4 @

AR wHR AR 7

(A) WAw & (gafa & yem &

mtﬂﬁiuﬁmf&qﬂﬂl
sfiren

i)
Rk Guniic] :qih:n N
F FaA
Which of the tollowing slatements i1s true

() e wfown 3w @ smafa # 3
msﬁmﬁﬁnﬁahm
regarding Fundamental Rights ?

102

mmtlﬂtlnﬂ‘ﬂ!jﬂll
|
wam R

(1) Mahanad: River |

10a. Frsifefam d & fom oo & Ko
_muE & Ars # o s Ay
(A) FivwIfa Sz () A Sz
wiFar qmom (1) WTEET wgr
Which among the fnllnwmj ports is alw

known as “Deendaval Pont™ 7
(A) Tuticorin Port (B) Parmdip Pon
(C) Haldia Pon (D} lﬂlndlu Port

ros, Pl 8 3 fewa wd 1905 8 sz 8 -y
-wmmﬁm‘ﬁw
) ww i (g Forwrom 7

(¢ = sfwrd s D) ST Wi
Whe amang the following established
“India Mouse - 5 siudent residence™ in
London in year 19057

(A) Shyamji Krishna Varma

(B) Chittaranjan Das
(C) Madam Bhikaji Kama

) Madan Lal Dhin
]m T W ot 7

i h?mﬂu wraf m =91 (D) Fq0

Which of the following was the capita

(A} Fundamental Rights are given as pef Suts Mabai fas?
will 01 President (o every citizen. : E:] Vaishali : iB) Kashi
(H} Fundamental Rights are our natural (€) Champa (D) Mathura
Tights and trans ferable nights. o7, Profafam @ & fea =@ W 1818 6§ SF
() Fundmmiﬂ! nghhmhﬂdm mﬂmwmm’
age and are transferable nights. . T o 2 _—_i
(D) Fund.srm-ntal Rights can only be bialaal ané
| suspetided  during @ national I Al (8
emergency. ) (D) RPLEF.EW i
fai=tfign At which of the following st
1 RY S S e Indian cotn mill was cstblished by
(A} Fef s o - fEm T Henry Gouger at Fort Gloster in 1818 ?
(B) Fema s - Wir (A) Mumbai (B) Chenuai
AE) T - e T (C) Kolkata (D) Ahmedabad
(D) T - S -t Fmim wsht Bt womel wrA
Which amoeng the following s an miéﬁw i L
napptoptias pair _ | (A) smudw  (B) e ik wwn
(A) Groupof Hampi - Viaypagar | o) iy (D) 3%
Monumerds Dvnasty s-resistant  construction
(B) Lingsra) Temple - Somavanshi mﬂim s}-ﬂcﬂ? is l‘:;lzid it which
Dynasty of the following places of India ?
(C) Khajpraho ~ Chola {A) Andhra h
Dyrusty (B) Jammu & Kashmir
i) Thousand = Lll:;l_h}rl {C] THF"
Pillars Tcmp!t__ﬁ__!}mu e tﬂlﬂ_mm -

W e T i i PRESIIER,

(P L]




109. Fre=fenfam & & fad)

1.

M.

.

113,

- e i
e e e s =1} e =i S

*

ot I AT R
(A) BE By A6
(C) %’fﬂ () &5t

Which smong the following is slw
L"".IW;:“ s woodd aleohn) 7

(A) Formaldeliyvde (1Y Methanol
(C) Butawol (D) Ethanol
rATRA-dfuerdi (W wwem
fera wrdw) & fEfomefim;
AR TR T 5 % b
(A) §-mfa LT E-mm
(C) $-wfw (D) $-mifz -
The NABARD pilot praject for digitisation
of SHG-BLPs (Sell Help CGroup-Bank
Linkage Programme) is called as :

(A) e-Shanti (H) e-Summiksha
(C} =-Shakn (D} e-Sannddhi
frad &% 3 451 s 3= s &) foy
& i ivada w e faar 87
The Reserve Bank has directed banks
and other entities 10 transition away from

-

which rate 7

(A) MIBOR ‘-'lﬁrLIBDR

(C) FIBOR (D) SIBOR
Bresfafigs 8 & =13 & aedt B o=
=1 Hiferal FTA FAW SR ° T WAL 7
(A) THTEETE

(B) Hifer siuFR

C) f J

T s e

Which ameng the following is the ideals
that @ state must keep in mind while
framing policies
(A) Socialism _
(B) Fundamental Rights
(C) Gandhian Prnciples _
(D) Directive Principles of State Policy
YA i AT el e LA
{A) T8 qr=Tt
B) 2 g
e HifEm st TR
(D) =8 §uTE .
The highest literary gward in India s ___.
(A} Inanpith Award
(B} Tagore Award
[C) Sahitya Akademi Award
(D) Vyas Samman

f

93 yEwe & v A 1)

l

—
,ﬂ1_.-._.l—-_..._—.-. e P SRR R g s e B

-

B] Nepal and Bangladesh
C) Indiz and Cuba
D‘ Cuba and Nepal
1. 8 8 WA o W S W

i/

o
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118.

a

M - ) - Wi 3R A A i feern
e Trafaener aueea #

(A s (1)) FHTAS

iy anr) (17) warmTd

e Bharat-KaloDBhowsn s o uuwtﬂ_ﬂF
s siviated ot i Lt Pradesh

(AL Apm (1%} :;ut.l-'.rmut

") Varannsi (17) Prayugra)
%1%1:1 & oy o e B Tal 1qu
g 60 srad) et dvagen v o e R
(A) ArEwToms (@) e
.{{i].l geruiiy (1) Hf
Which is # work of Tamil Grammar that

is suld 1o be lh‘.’:'l‘."ﬂﬂiﬂ[ extant work o

Tamil Literature 7 _ _
B) Silspparikaram
) TR tlil'] Munimekaloi

A

C) Valayapath

L m=men Jna (WHO) 3 7re @ 3 T
N ecthta (or i foan § 7

D) ‘
EHm‘ld Health Organisation (WHOQ) mh'!']ed
which countries &5 Maluria-free recently *
(A) Azerbaijan and Tajikistan

(C) vt ¥t SR (D) TR T

Which among the Fnllnwinﬁ is the first
green field pirports of the North-castern
tegion of India upder RCS scheme of
Government ol India ?

(A) Donyi Polo Asport (B) Rupsi Alrpont
(C) Lilabari Airport_(D)) Pakyong Airpon

fefign == el 8 @ 217 @ ghan =
Fw waEvig ¥R bk 7 —
(B) gz

(C) s (D) T AT

Which among the following waterbodies is
the most Saline waterbodies of the world 7
(AY The Great Salt Lake

(B) Pulicat

(C) Sambhar

(I Gaet'ale Pond

T T Sm—— e . -

KK2
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wrfis i Fvewr oo i s R T w7
(A) SFEIS (B ST 18
Mﬁ’w:l (D) W=z 9

Which Aricle protects a person’s nght o
mravel abroad vumder Indwan Constiiation 7

(A) Aricle 15 (B} Amicle I8
(C) Aracle 21 (1 Article 9
120, Brsfafam 9 8 aifaes g @l
(A) W4 {13y wn
(C) qt=w (D) e
Find the Jovian Planet among the following :
(A) Mercury (BY Eunth
(C) Uranus (D) Mars

121, g smafm sftm

TR e 3 A
13 frw v & wwfim 7
(A) Hremsmsm-wde  (dwfw s
MeifE  smEun -
TR yEhTTE)
(B) ¥ (Wi simfte s W)
(C) wwws (¥ wEE SEOE #7)
(D) iwms (fifed smum wommsn
“One Week One Lab™ theme-based
campaign is associated lo which among
the following institutions ?
(A) CSIR-NCL (Council of Scientific

AR E ?
(A) Ew (B) famm
(C) MWW A1) TR
“Motki® is a popular folk dance of which
of the following states ?
(A) Assam (B) Bihar
(C) Madhya Pradesh (D) Rajasthan
124, e ft 6, s e o a si
M wzet fam e R ) g @ m
(A) Brwn
‘waufa s
(C) wanfa firamim
(D) wmmfar
Recemly, Aurangabad, o city located in
Maharashtra has been renamed. What is
the new name of it ?
13}} ﬁ’ﬁ'ﬁf’“‘“ Sambhaji
trapat: Sambhajinagar
(C} Chhatrapati Shivaji
{lli Dhmhl::t w
125, Pt & @ fom v 3 = 1
HE- 20 FTTEE Y w5 e e
(A) Vo) (STedta. Siafts et Ere)
(B) iowue (At s sammen)
(C) s (fgrm vt fofies)
Bl (W IgEvE i feem

Ll

and Industnal Rescarch-National {B) PRL {Phync:} Research Laboratory)
Chemical Laboratory) (C) HAL (Hindustan Acronautics Limited)
(B) ISRO (Indian Space Research (D) DRDO  (Defense Research and
Organization) __Devel I'I‘Il:gl Organization) !
(C) BARC (Bhabha Atomic Research Centre) : !HQ Lryi FEH] HYETE, =7 g
{ ¥ U uew, 3 Hied el § i

(D) PRL (Physics Research Laboeatory)

W R wEae” Bofafee § & feg
o ° smtfEa fearmn e 2
(A) AftrerTg (B) FFPT
(C) F (D) Fies
"The Kodava Hockey Festival™ was held
at which amang the following stues 7
(A) Tamil Nadu (B) Telangans

(C) Kerala (D) Kamataka
KiK2
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e T |

T g Tl 7
(A) UEniTew Ufs (B) At o

(B) Magnesium sulphate
(C) Calcium carbonate
(D) Sodium bicarbonate
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31130, ﬁﬁmﬂﬁﬁwTﬁmaﬁzm

.%ﬂm -
T i B
(A) A FEm (g k 7 5 .iﬁgmmu_t_ntﬁi
e - AT Wit Fpf @ 2
() e (s 4 (B) 3w
- foma fafsan () e by himaw
y Sl (i fasa ) he East India Compan was given
m:;qm} fafrmn F;"::i}';:;w 1oy yrade duty $ree in Ben
[D}.ﬂ ( atfarer Wit _ Emperors __:Hmmg the  fOIOWINg Mughal
Which one of the rilliﬁ_;l eRitsiie) l{-l"'l,: Shahjahan (B) Akbaf
[pstitutions hes ollowing  Indian (C) Jahangit (D) Aurangaeb
Hlﬁ!ﬂh\:dmﬂ' Rﬂ!’rtnrch"‘]‘; Healthenre and il R - i+ =4
T"““’ﬁ'““iﬂslln;::-mﬂwxuf"m . EA?; e (B) ﬂtﬁiﬁm
(B) IMS {mmdisci,,ﬁm;f Med (C) wIETEa! (D)
(C) icui:r.mi] ; - b among_the following i U
R E'ﬁﬁ{h;"l'ﬂ" Council of Medical aﬁﬁf‘mﬁu“h‘ﬂ‘gﬂfﬁﬁgﬁﬂﬁg ““;.i!
@) AIIMS | (A1) Indinlasit A rich biodiveritg =
cdical S e of ). Kolaribets
ichocs) A 121::{ gﬁ';“hﬂ" }Dlgl Meesapulimala
128. g & i (i Reafen e mﬁﬂ“@aggmmL
Vo (Vereenigde __Qostin i ”ﬂmﬂg‘g wry e 2 A
C““m@”]lmmmﬁ“iﬁ mﬂmmm%
s e @ v SER S w, %
Sers S -f =t A @ &8
(A1 AR = 7 @ SEmEm:
(C1 ¥4 (D) fafzm (A) TF B B
O e | R
mF 1) n jd ecently 1
which of the L b 4 | by reliel 31.::22:“,{:’::5 T}“f““‘d flood
(A) Porugusse {B) Dutch validate joint drills i'ﬂ‘lJ&l ﬁgﬂh:dtm:;
(C) French (D) British relief ot ﬁﬁ by multi-agency
129, B=tafEm A8 & 7 TpEwa I 5 cunducwg ﬁni mc'ﬂ“"af E:.mm hoh
mi F_,ﬁiﬂfﬁniﬁﬁm ? rivers of Assam state 9 the following
(A) eI BRI ] (A) Barak (B) Dihin
(B) e (C) Manss (D Zopill
) FUEa fxs - ) Kopth
| wrd d2 5T AuEed l : ii““""“ﬁ; ‘ﬂmﬂmi?
%};_i'ﬁig'm . {B: E?%Tmﬂ e 2
ih one among the foll el TS l
diiice o shewcases iife of Tarmils Vﬁg ﬁzwﬁwﬁ 1 fam R |
g Sangam age 7 Wha w1 fa R |
t do you mean by Silviculture 7

(A) Vivekanand M
useum el
) T4 Highs Yo (A) ltisa science of growing silkworms
.Z]:;|.:I Fort 5t. George Museum (B) Itisascience of forest farmi '
] The Keeladi Museum | (C) Irisn science of fish farmi ing.
3 {E ) It is a science of rearing shr:i;;‘l

.
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134, ®@ # # a3 vadwe] s e aeA- (09, IARL (W F srEus dem
iﬁruwmﬁama’r:amﬁmﬁwl ﬁnﬁ-ﬁmﬂﬂﬁmmn ‘{mfﬁf&'ﬂm
firw &m & " ama W | qET T AT

ks l “TA) Tz (B i

(A) m-ﬁ (B) ¥4 (C) T (L) 4 fieel)

(C) q,uH (12) - In which among the following cities did

Recently hf"ﬁ': has  parnered Wit IARI (Indian  Agticullura)  Research

whtch  one  among  the  following Initute) organize "The Pusa Krishi

countries to launch \fluln-r‘mgh Iieger
lor Acrosols (IMATA)Y Mission

(A} Naly (1) Russin
(C) U.SA. (D) Japan
135, waand)-fAg Wil ;A & OUw
s, wAg § ynm % Fefefaa d @
pRiAfREt? i
A7) T (B) @ wem

(C) TEEE  4D)

“Ranawali”-a major city ol Indus Valley
Civilization is presently located a1 which
among the following states of India ?

Vigyan Mela™
(A) Rojko
(C) Jaipur

(B) Mumbm
(1) New Delhi

140. =% Fergsen & v T
ﬁnﬁﬁaﬂﬂﬁa%!r
(A) T T (B) TrEET
faam (D) Ae wodl

‘Madhubani', a style of folk paintings, s
ular in which among the following

states ol India 7
(A) Utlar Pradesh (B) Hajasthan

(A) CGujaral (B) Madhya Pradesh (C] Bihur (D) Madhyn Pradesh
(C) Rajasthan (D} Haryana I41, ER dwrem fRwEe wew W
ﬁqﬁ“ﬁﬁmﬁnﬂﬁﬁmaﬂ f#ﬂ%ﬁﬂrrﬂfﬁﬂﬁimmﬂ?
> AT | P (8) 27 94
The speed of Modem is calculated by (C) 18 3tk (D) 18 %%
which among the following rate? “Wotld AIDS Vaccimation Day™
(A) GPS (B) BPS ﬁcr;t:i nnc\::mh among the f'nllﬂwum
: 5
(C) FPS (D) CPS N ]-tﬁ%1w B) 270 March
137, wiE W & T 8t T (C] 8 Apn D) 18" May
IR T AT e :ﬁ;ﬁ TEE AfeiEa 7 3w
) whHen W e
(C) Zawiad @ adl (I8y Fo 1 W ﬁ’ﬁiﬁmm.;m = Ew
Kullu valley is also known as ; ﬂ.[?} E“‘IHFrnmtm"I l’Ui'l E;E‘ﬁ“i?dl
. onirea pcol is rl: fted o wihch onc
(A) Valfey of lee amony the following 7
(B) Valley of Pines (A) Ozone Laver Depletion
(C) Valley of Gods (B) Sustainable Develapment
(D) Valley of Flowers t{_} G{I;gné Warniing
. ) F ecurify
!H-ﬁﬁm*“ﬂ‘ﬂﬂ’ﬂﬁﬁ W ARTCH |43 Freaforfn § & 939 m g AL 7
wm & T T % rin RRTIT R 7 “f) of = T
(A) Pzl ) 3w
{M e AT WY (©) m (D) e
(C) fwe (D) o Which o the following is not a defect of
What is the name of the World's [irst vision 7
200-metre-long  Bamboo Crash Barrier (A) Myopia
which has been installed in Maharashtra ? (B) PMersistence of Vision
(A) Vikrant (B) Bahu Balli (C) Preshyopia
(C) Virar (D) Vishal (D) Hypermetropia
KK2 . 22
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144, B=fofm i & gy o R
%i.‘aﬁmmm: H%EW \
Pk I R
151‘1‘“ I 0y B, s w

UEh e amonyg fhe following iy the
author ol the boglk s Vaccs oI the

Story-From Cowpox, ey e Ciromdly

: Voccine Madiri™
who s alse o el servanl o g Ty
(A} Ashish Kunidia ik X ]

B) Dr. Sajjan Singh
'::C Lir. AI{nlul I"I'lgu Yada

(DY De. Anin Thambura)

142, e v wfaum Refafag §
0 wEfeftam m 2

(A) 3.l am,

(B) T sl ifiy

(C)_WTeETemtE A i

' Farmrd) Tyepemy

The eviginal Indian Constittion was hand-

written by whom the following 7
(A) Dt. B.R. Amh:dfur .

(B} Vijayn Laxmi Pandii
(€} Balasaheh Gangadhar Kher
(D) Prem Behar) Narnin Roizada

146, ﬁﬂfﬁﬁqi%%ﬂmmmmi‘m

TR~ T8+ A 9 A[E TR |
AT R gl W

v(A) FER R (B s wgEd

FEAAM () W R
Whu among the folowing is the first
Indian and Astan skipper to complete the
Golder  Globe Race — the longest
spacting event in the world 7
(A} Abhilash Totny .
.E {:i Avand Chaturvedi i
8]

Aarati Saha

Bhavana Karnh
wemg e & Fsfedan | 3 feg v 3
anm ¥ U FEN A wER '

iﬁ%}w'mm TEA T )
= e
(A Fiies ]

(0

{'r.;j]; A
Which among the follawing cities of
Malarashira aAnte nas smgtﬂéd a new
Mihiative nimed “Begger free city™ in
arder W secommodate homeless people
n it shgler 2

Mumha)

147.

(A) Natlik
(L) HETHF“: hl‘.’g Pune i

.o

*f

149,

L5,

wrnt g
(A) ke aown wftf
(14 sl sefimam wiftifaen
TR R il wiwfaay

() amgtn Wit wrftrson

' e
Which vne amony the I"nlluw.m!. focuse
lhe expeditions disposal ol the “ti!ﬂ
pettaining W envircnmental 1STUES |

(A) Environmental Protection Act
(B} Compensuory Aflorestation Act
(C) Forest Conservation Act

(1) The National Green Tribunal

g il wiw & Preafafan 4 a =
T e w4t @ e dgw mg fEE
T #TEA (QuASEA) a0 adEs
iz ¥l i =0 5 W T

(A) E=it ] e

(C) Tgzwel (D) TrEnEETE

“Ikat" is the weaving pattern of which of
the fullowing villages of South India which
wis 2lso selected as the Best Tourism
Village by United Mattons World Tourtsm
Organizations (LINWTO) 7

(A) Hampm I1B) Pachampally
(C) Patadakal (I Kodaikkanal

Fetaten i A fvd 2 Binls sis vhar
wFyd IR ] —————
(A) RER &, AW (B) AT WP
() w9 i (D) e @
Who among the following is known aa
“The Frogman of Indin™ 7

(A} Samir K. Brahamachars

(B) Suvendra Nath Bhaitacharya

L) Sathyabhama Das Biju

(LN Jagdish Chandri ose
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